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Simplifying the square root fraction.
Always simplify your square roots.

5/6 0 You cannot have a square root in the

(10 (10 denominator of a fractionlll

Multiply the fraction byyT0 (top & bottom)
560

Use your multiplying rules on the top

10 Ji0 * io = JT00 = 10 (this always works!ll)
1015 Simplify 5y60°
10

Reduce the "regular” numbers (if you can)

10/10=1
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Simplifying the square root fraction.

Always simplify your square roots.

You cannot have a square root in the
3/14 (12

denominator of a fractionll!

2V12 [ 12 Multiply the fraction byJTZ (top & bottom)

Use your multiplying rules on the o
3168 y plying P
- Ji2 * 12 =JT37 = 12 (this always workslll)

24
6JA7 Simplify 3vI68
24

Reduce the “regular" numbers (if you can)

m 6/24=1/4

4




